SUBTRACTION

4y 33 99
- 35 - 19 - 80
67 90 49
- 23 - 35 - 1
78 56 31
- 23 - 33 - 14

I Match the puzzle by solving the equation above
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Cut out the puzzle and match the answer to the equation. I



SUBTRACTION

77
- 23

87
- 32

42
- 12

67
- 22

98
- 90

40
- N

45
-1

17
- N

62
- 18

E Match the puzzle by solving the equation above.
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Cut out the puzzle and match the answer to the equation. I



SUBTRACTION

45
.

69
- 27

88
- 16

48
- 20

97
- 33

53
- 17

23
-1

78
- 66

90
- 18

E Match the puzzle by solving the equation above
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Cut out the puzzle and match the answer to the equation. l



SUBTRACTION

64 89 89
- 32 - 33 - 43
83 78 38
- 12 - 71 - 12

72
- 22

63
- 33

77
- 17

! Match the puzzle by solving the equation above

Cut out the puzzle and match the answer to the equation. I



SUBTRACTION

55
- 32

41
- 13

81
- 46

71
- 16

63
- 36

68
- 17

94
- 68

37
- N

15
- 10

E Match the puzzle by solving the equation above
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Cut out the puzzle and match the answer to the equation. I



SUBTRACTION

66 78 61
- 13 - 1 - 23
77 25 48
- 14 - 18 - 12
53 88 37
- 45 - 18 - 18

E Match the puzzle by solving the equation above
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Cut out the puzzle and match the answer to the equation. I



